

50

باردسم دقت

دقت

دقت

الف) $y = \frac{x+p}{p^2x^2 + p^2x - \lambda x + p} \rightarrow \neq 0$

$$\frac{px^2 + px - \lambda x + p}{-px^2 + px} \mid \frac{x-1}{px^2 + \omega x - p} \quad (1)$$

جواب: $\frac{p}{p^2} = 1, \frac{1}{p} - p$

$D_f = \mathbb{R} - \{1, \frac{1}{p}, -p\}$

5

ب) $y = \frac{x+p}{p^2x^2 + 9px + 10x + p} \neq 0$

$$\frac{px^2 + 9px + 10x + p}{-px^2 - px} \mid \frac{x+1}{px^2 + px + p}$$

$D_f = \mathbb{R} - \{-1, -\frac{1}{p}, -p\}$

$$\frac{px^2 + 10x + p}{-px^2 - px} \mid \frac{x+1}{px^2 + px + p}$$

الف) $y = \frac{x+p}{px^2 - px + px - 1} \neq 0$

$$\frac{px^2 - px + px - 1}{-px^2 + px} \mid \frac{x-1}{px^2 - px + px - 1} \quad (2)$$

جواب: $\frac{p}{p} = 1, D_f = \mathbb{R} - \{1\}$

ب) $y = \frac{x+p}{px^2 - px + px - 1} \rightarrow \geq 0$

5

$D_f = (-\infty, -p] \cup (1, +\infty)$

s.a.m

SHOT ON POCO

2023/12/21 10:00

$y = \frac{p}{px^2 - \omega(x-1) - px + \omega} \neq 0$

$px^2 - \omega(x-1) - px + \omega = 0 \quad (3)$

$x < 1 \rightarrow px^2 - \omega(1-x) - px + \omega = 0 \rightarrow px^2 - \omega + \omega x - px + \omega = 0$

$px^2 + px = 0 \rightarrow x(x+p) = 0 \rightarrow x = 0, x = -p$

$x \geq 1 \rightarrow px^2 - \omega(x-1) - px + \omega = 0$

$px^2 - \omega x + \omega - px + \omega = 0 \rightarrow px^2 - px + 2\omega = 0 \rightarrow (x-1)(x-\omega) = 0$

$D_f = \mathbb{R} - \{0, -p, \omega\}$

$x = \frac{p}{\omega} \rightarrow$

الف) $y = \frac{x+p}{p(x+1) - |x+p|} \neq 0$

$|p(x+1) - |x+p|| = 0 \rightarrow D_f = \mathbb{R} - \{-\frac{p}{p}, p\} \quad (4)$

$x < -p \rightarrow -px - 1 - (-x - p) = 0 \rightarrow -px - 1 + x + p = 0 \rightarrow -x + p = 0 \rightarrow x = p$

$-p < x < -\frac{1}{p} \rightarrow -px - 1 - (x + p) = 0 \rightarrow -px - 1 - x - p = 0 \rightarrow -px - x - p = 0$

$x > -\frac{1}{p} \rightarrow px + 1 - x - p = 0 \rightarrow x - p = 0 \rightarrow x = p$

ب) $y = \frac{x+p}{p(x+1) - |x+p|} \quad (5)$

$D_f = (-\infty, -\frac{p}{p}] \cup [p, +\infty)$

s.a.m

$x > 0$
 a) $y = \log_r (1 - \log_r x)$
 $1 - \log_r x > 0 \Rightarrow \log_r x < 1$ $\boxed{m < r}$ ②
 $0f = (0, r)$
 b) $y = \log_r (1 - \log_r \frac{x}{r})$ $\boxed{m > 0}$ $1 - \log_r \frac{x}{r} > 0$ $\log_r \frac{x}{r} < 1$ $\boxed{m > \frac{1}{r}}$
 $0f = (\frac{1}{r}, +\infty)$

$f(x) = \sqrt{\log_{0.10} (rx-1)}$ $rx-1 > 0 \Rightarrow rx > 1$ $\boxed{m > \frac{1}{r}}$ ④
 $\log_{0.10}^{rx-1} > 0$ $rx-1 > 1$ $rx > 2$ $\boxed{m > 1}$
 $\log_{0.10}^{rx-1} \geq 0$ $\log_{0.10}^{rx-1} < 1$ $rx-1 < \infty$ $rx < \infty$ $\boxed{m \leq r}$
 $0f = (1, r]$

a) $y = \log(r \cos x + 1)$ $r \cos x + 1 > 0$ $r \cos x > -1$ ⑤
 $\cos x > -\frac{1}{r}$ $0f = (rkr - \frac{r\pi}{r}, rkr + \frac{r\pi}{r})$
 b) $y = \sqrt{\log \frac{x-1}{x+1}}$ $\boxed{x \neq -1}$ $\frac{x-1}{x+1} > 0$ $\frac{-1}{+} - \frac{+}{+}$
 $\log_{10} \frac{x-1}{x+1} \geq 0$ $\frac{x-1}{x+1} \geq 1$ $\frac{x-1-x-1}{x+1} = \frac{-2}{x+1} \geq 0$ $\frac{-1}{+} - \frac{-}{+}$
 $0f = (-\infty, -1)$

s.a.m

a) $\sqrt{ca+ra+am+b}$ $\Rightarrow \sqrt{-rx+b}$ ⑤ $b=y$ ①
 $0f = (-\infty, r]$ $\rightarrow$ $\frac{b}{a} = r$ $-y+b=0$
 $f(x) = \sqrt{x^2 + rx + r - mr}$ $\rightarrow \geq 0$ $\Delta \leq 0$ $1 - (-1) = 2$ ⑨
 $\Delta = r^2 - 4(1)(r - mr) = r^2 - 4 + 4mr = r^2 - 4 \leq 0$ $r(m^2 - 1) \leq 0$
 $\frac{r}{1} \frac{(m-1)(m+1)}{1} \leq 0$ $\frac{-1}{+} - \frac{+}{+}$
 $-1 \leq m \leq 1$ $1 - (-1) = 2$ ⑤
 $f(x) = \sqrt{r - x^2}$ $r - x^2 \geq 0$ $x^2 \leq r$ $-\sqrt{r} \leq x \leq \sqrt{r}$ ⑩
 $[x] + [-x] + 1$ $[x] + [-x] + 1 \neq 0$
 $[x] + [-x] \neq -1$ $\left\{ \begin{array}{l} x \in \mathbb{Z} \rightarrow [x] + [-x] = 0 \\ x \notin \mathbb{Z} \rightarrow [x] + [-x] = -1 \end{array} \right.$ $\rightarrow \boxed{x \in \mathbb{Z}}$
 $I \cap \mathbb{Z} \rightarrow \boxed{-\sqrt{r} \leq x \leq \sqrt{r}}$

s.a.m